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Answer all the following questions

Q1- Choose the correct answer : (20 marks)

1- During digestion, proteins are broken down into molecules of -----------
a- glucose  b- fatty acids c- amino acids d- nucleic acids

2- Bile is produced in the
a- liver  b- small intestine  c- pancreas d- stomach

3- All of the following are substances found in pancreatic juice EXCEPT:
a- pepsin  b- trypsin c- amylase d- lipase

4- Salivary amylase secreted into the oral cavity starts the digestion of ----
a- proteins b- starch c- lipids d- amino acids

5- The stage in an action potential that immediately follows
depolarization is
a- polarization b- repolarization

c- threshold d- the resting period

6- The different charge between the outside and the inside of a neuron at
rest is called
a- action potential b- synaptic potential
c- resting membrane potential d- equilibrium potential

7- Processes that carry nerve impulse away from the cell body are
called ---

a- denderites b- axons  c- synapses d- myelin sheaths




8- Which of the following hormones increase reabsorption of water in the
collecting ducts?

a- renin b- ADH c- secretin d- aldosterone

9- Most glucose molecules are reabsorbed in the
a- proximal convoluted tubule b- distal convoluted tubule
c- loop of Henle d- collecting duct

10- Which of the following substances is not normally in the glomerular
filtrate?

a- amono acids b- glucose c- urea d- proteins

11- Fibrinogen has a role in:
a- Maintains blood pressure. b- Immune response.
c- Vitamin transport. d- Blood coagulation.

12- Co, inside blood vessels, found mainly as:

a- HbCo, b- Co, dissolved in plasma
c- Bicarbonate. d- Carbonic acid.

13- White blood cells:.

a- Function in O,& CO; transport. b- Originate in bone marrow.
c- Life span 120 days. d- Biconcave.

14- Which of the following is not true about skeletal muscle?
a- Contract involuntary. b- Striated.

c- Composed of myofibrils. d- Has actin and myosin molecules.

15- Anti-diuretic hormone is not:
a- Released from posterior pituitary. b- Retain sodium.
c- Secreted by hypothalamus. d- Retain water.

16- Which one, lines the walls of hollow organs?
a- Cardiac muscle. b- Skeletal muscle.

¢c- Smooth muscle. d- Both b and c.

17- Which of the following white blood cells secrete antibodies?

a- Basophiles. b- Eusinophils.

c- Lymphocytes. d- Monocytes.
18- Homeostasis results in:

a- Blood clot. b- Platelet plug.

c- Vascular spasm d- a,b and c are true




19- Hypo-parathyroidism may result in :
a- Increase in plasma calcium. b- Bone demineralization.
c- Neuro-muscular excitability increase. d-Botha & c.

20- Which one is not an ovarian hormone:

a- Estrogen. b- Progesterone.
c- Relaxin. d- Androgen
Q2- (20 marks)
A- Identify FIVE only of the following:
(5 marks)
i- Glycogenesis ii- Phospholipids iii- Retinoic acid iv- Synapse
v- Niacin vi- Beta oxidation  vii- Central nervous system
B- Fill in the blanks: (15 marks)

1- Urine is formed as a result of three processes which are:
a- b- c-

2- Two factors affecting the enzyme activity are:
A= —mmmmmmmmemeemeeee b-

3- From the types of neurons:
a- : b-

4- Two hormones that control the digestive secretions are:

a- b-

5- Night blindness can be caused by

6- Cardiac muscle characterized
7- The disorders in growth hormone results in: ................cooeenne.
8- Steroid hormones differ from peptide hormones in: ...................
9- Types of anemia are: ..... 3 558 B 8 A s MR A B A S0 B 4§ A S

10- Human blood group recognized according to: .............oeveenennennn.

11- Types and functions of plasma proteins:------=-=-=====secememmmmmcmomomue-

12- Blood functions are: ----=-==-=mmmmmmmmcmeeeeeee e




13- Adrenal gland secretes.........-=-===-=--- e
while the medulla region secretes

14- Smooth muscle stimulated by .................... or by ------------em--
15- Hemoglobin combine with CO2 forming ........ or with O2
Forming
Q3- (20 marks)

A- Answer Four only of the following: (10 marks, 2.5/ each)
a- Using diagram, explain how HCl is formed in the stomach
b- List the biological significance of proteins
c- Describe the voltage gated channels
d- Discuss acid-base hemostasis
e- Follow-up the protein digestion in the GIT
f- Compare vitamin D and vitamin C
B- Give an account in two of the following:- (10 marks, 5/ each)
a- Factors affecting erythropoisis.
b- Neuro-muscular junction.

c-Hormones regulating blood glucose and blood calcium.

Dr. El-sayed M. El-Habiby Dr. Hanaa Serag
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Subject: Physics( 101) == Time allowed : 2 hours
Course (s): Heat and Properties of Matter Full Mark:: 60 Mark

Answer the following Questions: Each Questions (15) Mark

[1] A:- Define the following.
British thermal unit — Latent heat of vaporization — Stefen's Law — Isobaric process [8] Mark

B:- A cowboy fires a silver bullet of mass 2 gm with a muzzle velocity of 200 m/s into the pine
wall of a saloon. Assume that all the thermal energy generated by the impact remains with the
bullet. What is the temperature change of the bullet ( specific heat of silver = 234 J/Kg. °C)

[7]1 Mark

[2] A:-What mass of steam initially at 130 °C needed to worm 200g of water in a 100 g glass
container from 20°C to 50°C. ( Specific heat of steam = 2010 J/kg.K, Specific heat of water
=4190 J/kg.K, L, =2.26 x 10° J/kg, specific heat of glass = 837 J/kg.K) [7] Mark

B :- Drive an expression for the radial heat flow through the spherical cross section pipe ?
8] Mark

3-A) Define the following:
The Continuity Equation —The steam point —The shear stress - The concepts of ideal fluid
follow
[8] Mark
B) A pipe has a diameter of 16 cm at point 1 ( P; =200 KPa) and 10 cm at point 2 that is 6 m
higher than portion 1. When oil of density 800 kg/m’ flows in this pipe at a rate of 0.03 m’/s .
Find the pressure at point 2 ? 7] Mark

4-A) The position of a particle moving along X-axis is given by : X(t)=4 sin (20t) m
and t in second. Compute  a) The X 4y, Vinax , periodic time and frequency.

b) Position, velocity and acceleration. 71 Mark

B) Derive the Bernoulli’s equation (P + % pv: + p gy = constant ). 8] Mark

Examiners:
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Chemistry Department

Subject: Chemistry

Course: Physical Chemistry (141)

‘Answer the following questions

1)-a) Give a full accounts on the following:

i) Gay-Lussac’s law. (3 marks)
ii) Boiling point elevation. (3 marks)
(3 marks)

iii) Reversible reaction.
b) Under the same condition of temperature and pressure dose hydrogen iodide or

ammonia effuse faster? Calculate the relative rate at which they effuse.

(H=1, N=14, 1=127) (6 marks)
2)-a) Write shortly on the following:
i) Relationship between K, and K.. (3 marks)
ii)Hess’s law for heat summation (3 marks)
(3 marks)

iii) Factors affecting solubility.
b) Calculate the equilibrium constant for the following reaction

H,+ I, < 2HI
When the equilibrium concentrations at 25°C were found to be
[ H2] = 0.0505, [I,] = 0.0498 and [HI] = 0.389 (6 marks)
3)-a) Write briefly on: ’
i) The difference between molarity and molality. (3 marks)
ii) Lechatelier principle. (3 marks)
iii) The water ionization constant (Kw). (3 marks)
b) Calculate the pH values for the following solutions: (6 marks)
i) 0.2 M HCI ii) 0.2 M NaOH iii) 0.2 M acetic acid (Ka=1.0x10")
iv) 0.2 M NH4OH (Ky=1.77x107)
4)-a) Define the following items:
i) Bond energy. (3 marks)
ii) Polyprotic acid. (3 marks)
iii) Mole fraction. (3 marks)

b) What is the freezing point of the solution when 14.75 grams of the electrolyte
NaNOs is dissolved in 66.5 grams of water.(K¢ of water = 1.86 °C/mol)
(Na=23, N=14, 0=16) (6 marks)
GOOD LUCK
Professor Dr.Yehia Elewady




